

NAME:ONYEUKA CHIBUZOR SARAH

15/ENG04/047

ELECTRICAL/ELECTRONICS

ENG381

$$x_{12} = e^{3t} \int \frac{1}{s^2+2s} ds$$

$$= \frac{1}{s} - \frac{1}{s+2}$$

$$= \int \frac{1}{s} ds - \int \frac{1}{s+2} ds$$

$$= \ln|s| - \ln|s+2| + C$$

(X)
$$= \frac{1}{s} - \frac{1}{s+2}$$

$$= \int \frac{1}{s} ds - \int \frac{1}{s+2} ds$$

$$= \ln|s| - \ln|s+2| + C$$

$$= \int \frac{1}{s} ds - \int \frac{1}{s+2} ds$$

$$= \ln|s| - \ln|s+2| + C$$

(N)
$$e^{2t} \frac{1}{s}$$

$$= \int \frac{1}{s} ds$$

$$= \ln|s| + C$$

$$= \int \frac{1}{s} ds$$

$$= \ln|s| + C$$

$$= \int \frac{1}{s} ds$$

$$= \ln|s| + C$$

$$= (1-s^2) \int \frac{1}{s^2+2s} ds + \int \frac{1}{s^2+2s} ds$$

$$= (1-s^2) \left(\frac{1}{s} - \frac{1}{s+2} \right) + \left(\frac{1}{s} - \frac{1}{s+2} \right)$$

$$= \frac{1-s^2}{s} - \frac{1-s^2}{s+2} + \frac{1}{s} - \frac{1}{s+2}$$

$$= \frac{1-s^2+1}{s} - \frac{1-s^2+1}{s+2}$$

$$= \frac{2-s^2}{s} - \frac{2-s^2}{s+2}$$

$$= \frac{2}{s} - s - \frac{2}{s+2} + s$$

$$= \frac{2}{s} - \frac{2}{s+2}$$

$$= 2 \left(\frac{1}{s} - \frac{1}{s+2} \right)$$

$$= 2 \left(\ln|s| - \ln|s+2| \right) + C$$

$$H + 10 = G(s) \cdot H(s)$$

$$(s-2)(s-3) \cdot (s+1)$$

$$[z + 5s + 11s + 2]$$

$$= \frac{2}{s+1} + \frac{10}{s+1} + \frac{2}{s+2}$$

$$F(s) = \frac{2}{s-2} - \frac{10}{s-3}$$

(3)

$$\frac{s-5}{(s-3)(s-4)} = \frac{A}{s-3} + \frac{B}{s-4}$$

$$s-5 = A(s-4) + B(s-3)$$

$$-A = -12 \Rightarrow A = 12$$

$$A = 22$$

$$\begin{aligned}
 & \times \frac{-ix}{e^{3t} \{t^2 + 4t\}} \\
 & \mathcal{L} \{t^2 + 4t\} = \frac{2!}{s^{2+1}} + \frac{4!}{s^{1+1}} \\
 & \mathcal{L} \{e^{3t} \{t^2 + 4t\}\} = \frac{2!}{(s-3)^{2+1}} + \frac{4!}{(s-3)^{1+1}}
 \end{aligned}$$

$$\begin{aligned}
 & \mathcal{L} \{t^3 + 4t^2 + 5\} \\
 & = \frac{3!}{s^{3+1}} + 4 \left[\frac{2!}{s^{2+1}} \right] + \frac{5}{s} \\
 & = \frac{6}{s^4} + \frac{8}{s^3} + \frac{5}{s}
 \end{aligned}$$

xi
 $t^2 \cos t$

$$\mathcal{L}(\cos t) = \frac{s}{s^2 - 1}$$

$$\begin{aligned}
 \mathcal{L} \{t^2 \cos t\} &= \frac{d}{ds} \left[\frac{s}{s^2 - 1} \right] = \frac{(s^2 - 1) \cdot 1 - (s) \cdot (2s)}{(s^2 - 1)^2} \\
 &= \frac{(s^2 - 1) - 2s^2}{(s^2 - 1)^2} = \frac{-s^2 - 1}{(s^2 - 1)^2} \\
 &= \frac{-(s^2 + 1)}{(s^2 - 1)^2}
 \end{aligned}$$

$$\begin{aligned}
 &= \frac{-3+2-2}{(s+2)^2+4^2} - \frac{5}{(s+2)^2+4^2} \\
 &= \frac{-3+2-2-5}{(s+2)^2+4^2} = \frac{-7}{(s+2)^2+4^2} \\
 &g(s) = e^{-2s} \cos st - \frac{7}{4} e^{-2s} \sin 4s
 \end{aligned}$$

$s=1j^2$
 $s=1j^2$

$$\frac{5s-8}{s(s-10)} = \frac{2}{s} + \frac{3}{s-10}$$

$$\left\{ \frac{s^2-3s-4}{(s-1)^2} \right\} = \frac{A}{s-3} + \frac{B}{(s-1)} + \frac{C}{(s-1)^2}$$

$$= \frac{A(s-1)^2}{(s-3)} + \frac{B(s-3)}{(s-1)^2} + \frac{C(s-3)}{(s-1)^2}$$

$$s^2-3s-4 = A(s-1)^2 + B(s-3) + C(s-1)$$

$$s^2-3s-4 = A(s^2-2s+1) + B(s-3) + C(s-1)$$

$$9-9-4 = A(1) + B(-2) + C(-1)$$

$$A = -1$$

$$\text{Let } s = 1 \Rightarrow 1-3-4 = A(0) + B(-2) + C(0)$$

$$\frac{s^2-3s-4}{(s-3)(s-1)^2} = \frac{-1}{s-3} + \frac{1}{(s-1)^2}$$

$$x(s) = \frac{-1}{s-3} + \frac{1}{(s-1)^2}$$

$$\frac{8-5}{s^2+4s+20} = \frac{8-5}{(s+2)^2+16}$$

$$= \frac{3}{(s+2)^2+16}$$

$$= \frac{3}{(s+2)^2+4^2}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$= \frac{3}{4} \cdot \frac{1}{\left(\frac{s+2}{4}\right)^2+1}$$

$$B = -1$$

$$\frac{s-5}{(s-3)(s-4)} = \frac{2}{(s-3)} + \frac{-1}{(s-4)}$$

$$= 2e^{3t} - e^{4t}$$

$$L\left\{\frac{2s-6}{(s-2)(s-4)}\right\} = \frac{A}{(s-2)} + \frac{B}{(s-4)}$$

$$2s-6 = A(s-4) + B(s-2)$$

$$-2A = -2 \Rightarrow A = 1$$

$$A = 1 \Rightarrow (s-2)A + (s-4)B = 2s-6$$

$$2B = 2 \Rightarrow B = 1$$

$$B = 1$$

$$\frac{2s-6}{(s-2)(s-4)} = \frac{1}{s-2} + \frac{1}{s-4}$$

$$(s-2)(s-4) = s^2 - 6s + 8$$

$$L\left\{\frac{5s-8}{s(s-4)}\right\} = \frac{A}{s} + \frac{B}{(s-4)}$$

$$5s-8 = A(s-4) + Bs$$

$$L\left\{\frac{5s-8}{s(s-4)}\right\} = \frac{A}{s} + \frac{B}{(s-4)}$$

$$5s-8 = A(s-4) + Bs$$

$$-4A = -8 \Rightarrow A = 2$$

$$A = 2 \Rightarrow 2 + B = 5 \Rightarrow B = 3$$

$$4B = 12 \Rightarrow B = 3$$

$$L\left\{\frac{5s-8}{s(s-4)}\right\} = \frac{2}{s} + \frac{3}{s-4}$$

CONVEKTA C. SIAHAJAN

15 FENG OKHOT

Sheets of Reflection

1) $(1-x^2) \frac{dy}{dx} - 2xy \frac{dy}{dx}$

$y^n = u \Rightarrow n y^{n-1} \frac{dy}{dx} = n u^{n-1} \frac{du}{dx}$

$(1-x^2) \cdot n u^{n-1} \frac{du}{dx} - 2xy \cdot n u^{n-1} \frac{du}{dx}$

$= (1-x^2) u^{n-1} \frac{du}{dx} - 2xy u^{n-1} \frac{du}{dx}$

$\int (1-x^2) u^{n-1} du = \int (1-x^2) u^{n-1} du - 2xy \int u^{n-1} du$

for $u = y^2, \frac{du}{dx} = 2y \frac{dy}{dx}$

$u = y^2 \Rightarrow \frac{du}{dx} = 2y \frac{dy}{dx}$

using Leibniz theorem

$u^n = \int u^{n-1} \frac{du}{dx} dx = \int u^{n-1} \frac{du}{dx} dx$

$= \int (1-x^2) u^{n-1} \cdot 2 + \int (1-x^2) u^{n-1} \cdot 2xy$

$= 2xy \int u^{n-1} + 2xy \int u^{n-1}$

$\frac{d}{dx} y^n = 2xy \frac{dy}{dx} + 2xy \frac{dy}{dx}$

for $u = y^2, \frac{du}{dx} = 2y \frac{dy}{dx}$